s 8 7 v 6 S v 4 3 v 2 1
REVISION HISTORY

ECO | ZONE |REV. DESCRIPTION DATE APPR'D

A PRODUCT RELEASE 9/7/2022

I
Il
Il
Il
]
]
Il
il
Il
Il

WITH MOUNT

EASY AXIS MOUNT
INTERFACE

Y/ROTATION-ADJUSTMENT £3mm

3mm HEX KEY
TOP CORNER
Z-ADJUSTMENT +3mm
3mm HEX KEY
XK P P T
ZX-ADJUSTMENT +3mm
3mm HEX KEY MINIMUM GAP TO CEILING
BOTTOM CORNER ‘A’
Z-ADJUSTMENT +3mm CONDITION mm in
E%EQE“QSENSOR 3mm HEX KEY SERVICE MODE 38 1.5
TOOL ACCESS 175 6.9
; TOP VIEW PANELREMOVALONLY | 32 | 1.3
! MINIMUM GAP 17 7
\ STANDARD PANEL
DO NOT HANDLE ‘ DIMENSIONS
THIS AREA [26.89]
1 683.0 WITHOUT MOUNT WITH MOUNT SERVICE MOUNT
- - STANDARD PANEL SHOWN ERO PANEL SHOWN
ERO PANEL
DIMENSIONS
e T S
2X POSITION SENSOR 683.8 /é
TRANSMITTER 'A' SEE TABLE
ELECTRONICS/ I ) T
INTERFACE S
DUE TO HOT AIR BUILD UP AT THE
) TOP OF AN INSTALLED ARRAY,
PLANS SHOULD BE MADE TO
ALLOW THIS AIR TO ESCAPE
EITHER OUT THE FRONT, BACK, OR
] CEILING WHERE SHOWN
]
STANDARD PANEL
DIMENSIONS
[47.72] .
1212.2
FRO PANEL i
DIMENSIONS
[47.75]
1213.0 A
] ¥
1 °h °h i
62
[32‘?1] [10.00]
i FRONT VIEW 3.51] - - STANDARD 254.0
STANDARD PANEL SHOWN 89 2 - 3.77] PANE
NOMINAL 95.9 - - NOMINAL
ERO PANEL
2. PANEL TEMPERATURES CAN INCREASE 3-5° C WITH EACH VERTICALLY
NOMINAL STACKED UNIT.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
- : ° D ° . NOTES: UNLESS OTHERWISE SPECIFIED.
° % % S % ‘ ENGR BY
DIMENSIONS ARE IN MILLIMETERS INCHES]. SLANAR SYSTEMS. ING
TOLERANCES: PRANNEY RAS 28 APR 22 P L A N A. R 11958NEOC3M(I;TON DRIVg
+ HILLSBORO, OR 97006 USA
o BOTTOM VIEW X= +1 XX= .95 CHECKED BY . i
|7 X 25 M B CLARITY MATRIX MX-LX
DIMENSIOI\/I)Igaé\\I\(I?“gCKALEQRéA“NCING PER 55X3_P OUTLINE
THIRD ANGLE PROJECTION
| SIZE PART NO. DRAWING NO. REV
THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS __ G o SCALDE _ SH-EET A
D T O O N LTI O NS ECTION PURPOSES ONLY AND A NOT SE D ¢ s ! 16 DO NOT SCALE 10F 7

8 7 i 6 5 i 4 3 i 2 | 1



s 8 7 v 6 5 v 4 3 v 2 1

- [53.91] -
1369.2
D
26.91] HORIZONTAL ALIGNMENT
— <83 4 - BRACKETS. USE M5X8
: BUTTON HEAD SCREWS
RECOMMENDED LOCATION (591 \=_ [[13.98]\ _. 0.38 DISPLAY OUTLINE
FOR CABLE INGRESS BETWEEN 150.0 355.0
PANEL AND MOUNTING SURFACE
l \ MOUNT HOLES FOR
] I I #1/4-20 OR Mé BOLTS
EL“ AND WASHERS
[8.07] 3 - -
205.0 e P P [ P
' N . SERVICE MODE
i I HANGER TABS
7 7
[14.37]
365.0
C //////
[47.74] Jo
1212.5
sy
[47.76]
1213.2
q k4 3
o ; : VERTICAL ALIGNMENT
. - 5 BRACKETS. USE M5X8
AN . BUTTON HEAD SCREWS
[95.57] l \
2427 .4 ! -
015 J o \ . - i, ¢ |,
[0.38] e 1 LT Sl e LI NS
NOMINAL © \ © I
/
N/ h |
B [36.00]
. 3
914.4 |
[41.8¢]
1063.3 CABLE ROUTE
FEATURES IE
! A ;
E 3 L ||
€N ¢
l 5. STANDARD WALL DIMENSIONS (mm/in)
|| L L || ROWS [COLUMNS HEIGHT WIDTH DIAGONAL
2 2 2427.4 | 95.57 | 1369.2 | 53.91 | 2786.9 | 109.72
CENTERING NOTCH |:2§36:| 2 3 2427.4 | 95.57 | 2054.9 | 80.90 | 3180.4 | 125.21
[1.35] - [24.20] _ CICKSTAND FOR 3 3 | 3642.3|143.40 | 2054.9 | 80.90 | 4182.0 | 164.65
34.2 614.7 SERVICE MODE 3 4 3642.3 | 143.40 | 2740.7 | 107.90 | 4558.3 | 179.46
4 4 4857.1 | 191.22 | 2740.7 | 107.90 | 5577.0| 219.57
5 5 6072.0 | 239.06 | 3426.5 | 134.90 | 6972.1 | 274.49
- [26-93] -— 4. ITIS RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 13mm (0.5")
684.0 GAP BE LEFT AT THE SIDES AND A MINIMUM OF 25mm (1.0") GAP BE LEFT AT
A THE BOTTOM. SEE PAGE 1 FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS AVAILABLE
FOR PANELS NEXT TO THE CONDUIT OPENING. MORE WILL BE NEEDED FOR
PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL, AND PLUMB.

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.

SIZE PART NO. DRAWING NO. REV

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS

IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS SCALE SHEET
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS. 1 :8 Do NOT SCALE 2 OF 7

8 7 i 6 5 i 4 3 i 2 | 1



050-0218-02 REV B % 6 5 % 4 % 2 1
- [53.969] —
1370.8
HORIZONTAL ALIGNMENT
- [26.94] - BRACKETS. USE M5X8
684.2 BUTTON HEAD SCREWS
RECOMMENDED LOCATION 591\ [[1398] | ___| DISPLAY OUTLINE
FOR CABLE INGRESS BETWEEN 150.0 355.0 I:O] 5:|
PANEL AND MOUNTING SURFACE ———— O 38
l e MOUNT HOLES FOR
I 1 #1/4-20 OR Mé BOLTS
i u AND WASHERS
( 8.07] ) = — AR a5
205.0 @E "% SERVICE MODE
i HANGER TABS
5/ Y
[14.37]
365.0
[47.77] ‘
1213.3 2 [[el
)
[47.796]
1214.02
| (3R | p
E g 0l VERTICAL ALIGNMENT
|- B BRACKETS. USE M5X8
[95.63] . . BUTTON HEAD SCREWS
2429.0 l J[: \ )
\ i .
(]
° 0 @)
[015] J S \ . . e ql,
0.38 @E ‘ LT A2 B |
NoMINAL = \ S | 1
7 )
f{g
[36.00] [41.877]
914.4 1063.68 CABLE ROUTE
FEATURES IE
4 P4 '-
o S . r
€N X B
l 5. ERO WALL DIMENSIONS (mm/in)
1 - ] L | ROWS |COLUMNS|  HEIGHT WIDTH DIAGONAL
95 2 2 24290 95.63 | 1370.8 | 53.97 | 2789.1] 109.81
CENTERING NOTCH [24.3 2 3 2429.0 | 95.63 | 2057.4| 81.00 | 3183.2| 125.32
[1.3¢] - [24.20] _ (ICKSTAND FOR 3 3 3644.6 | 143.49 | 2057.4 | 81.00 | 4185.2 | 164.77
34.6 614.7 SERVICE MODE 3 4 3644.6 | 143.49 | 2743.9 | 108.03 | 4562.0 | 179.61
4 4 4860.3 | 191.35 | 2743.9 | 108.03 | 5581.4 | 219.74
5 5 6076.0 | 239.21 | 3430.5 | 135.06 | 6977.5 | 274.70
- [26.961] — 4. IT1S RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 13mm (0.5")
684.82 GAP BE LEFT AT THE SIDES AND A MINIMUM OF 25mm (1.0") GAP BE LEFT AT

THE BOTTOM. SEE PAGE 1 FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS AVAILABLE
FOR PANELS NEXT TO THE CONDUIT OPENING. MORE WILL BE NEEDED FOR
PANELS FARTHER AWAY.

2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL, AND PLUMB.

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

SIZE

D

PART NO.

DRAWING NO.

REV

SCALE

1:8

DO NOT SCALE

SHEET

30F7

i 2




050-0218-02 REV B
g

( [80.90] >

2054.9

RECOMMENDED LOCATION

, . , [13.98] .
150.0 < 355.0 FOR CABLE INGRESS
BETWEEN PANEL AND
MOUNTING SURFACE
/DISPLAY OUTLINE
i
T H s N L / // / I°] I
(-] 1 1 (-] (-] (-] -] l -]
o L= = | p L= —_ = =l o
( [8.07] > o LT o LT A P B
205.0 N AnsE A // 5
© G119 S | @ ©
[14.37]
365.0
4 ) ) [
@ W L) @ @ LJ L) @ @ @ @) L L) @
G gLl g o = ] 32
] | | ] | 11 | |
q q q ]
[C] (C]
] ﬁr‘*ﬁ/ / QJ& / °l [93.626]
2378.10
& I s 7]
(-] (-] (-] (-] o o
> q | b q | b o
< [95.57] ) o LT I - [Blele LT TP o [BlEle [ LT I .
24274 © clille clille @
////////// /////////, ﬂ/
[ ) [ ) [
@ @ LJ @ @ U LJ tJ @ @ (@ LJ U LJ @
[.93] €N HECR * e 2 *
23.6 ] mEEE 11T ] 4. IT1S RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 13mm (0.5")
GAP BE LEFT AT THE SIDES AND A MINIMUM OF 25mm (1.0") GAP BE LEFT AT
I o] ol | lol o] | [l o] ! THE BOTTOM. SEE PAGE 1 FOR TOP GAP RECOMMENDATIONS.
3. IT1S RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS AVAILABLE
FOR PANELS NEXT TO THE CONDUIT OPENING. MORE WILL BE NEEDED FOR
PANELS FARTHER AWAY.
2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL, AND PLUMB.
80.50] 1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
- 2044.6 - NOTES: UNLESS OTHERWISE SPECIFIED.
SIZE PART NO. DRAWING NO. REV
D - - 01
15 PROMIBITED. TH1S DRAWING 1S SUPPLIED PO INEORMATION, IDENTIFIGATION. ENGINEERING, EVALUATION, ANDIOR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS 8ASIS | SCALE SHEET
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS. 18 DO NOT SCALE 4 OF 7
7 4 6 5 4 4 3 4 2 | 1




8 7 | 6 5 | 4 | 2 1
- (80.90] -
2054.9
RECOMMENDED LOCATION
FOR CABLE INGRESS
[5.91 . BETWEEN PANEL AND

|

355.0

_ ( [13.98] )

MOUNTING SURFACE

/DISPLAY OUTLINE

[26.906]
l 683.40
A F] \
= ‘ | | % WP L] | % WP ﬂJ?

B

205.0

< [14.37] >

365.0

~

[143.40] )
3642.3

N
» ‘o
w M,

/

\

E}ja

.

[S)

\

A s , T !

/ / [ ] B :
- - 7 B4 / - / J 1|k \ \ - ]
o T i

1 J[O
o

[141.39]
3591.3

1
| A
& ‘ L
D. -h 0 . -h 0 . ] ﬂ_ ::l
@ % P o o LIl o B I % P Ao
© S | [ S | e
L p| 9 P | 9 p
w o | [ o | O O

N

4. IT1S RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 13mm (0.5")
GAP BE LEFT AT THE SIDES AND A MINIMUM OF 25mm (1.0") GAP BE LEFT AT

THE BOTTOM. SEE PAGE 1 FOR TOP GAP RECOMMENDATIONS.

3. ITIS RECOMMENDED THAT A MINIMUM OF 5 FEET OF CABLE IS AVAILABLE
FOR PANELS NEXT TO THE CONDUIT OPENING. MORE WILL BE NEEDED FOR

- [80.50] _ PANELS FARTHER AWAYY.
2044.6 2. ENSURE THE LCD MOUNTS ARE MOUNTED FLAT, LEVEL, AND PLUMB.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.
SIZE PART NO. DRAWING NO. REV
D ; 01
o PROMBITED, 1S DRANING. 16 SUPPLILD FOR INEORMATION. IDENT ICATION, EXOINECRING, EVALUATION, ANDIOR INSPECTION PURPOSES ONLY AN MAY NoT B2 USED AS tAie. | SCALE SHEET
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS. 1 :8 DO NOT SCALE 5 OF 7
8 7 P 6 5 ? 4 ? 2 | 1




050-0218-02 REV B 8 7 6 4 3 % 2 1
T TRIM INSTALLATION TOP TRIM
|
o TOP TRIM
b
[3 3 5] =’2=’3’2=’3’%=’3’2=’2=’§=’2=’2=’2=’2=’2=’§=’2=’3’2=’3’2=’2=’§=’2=’2=’°§=’2=’2=’2=’2=’3’2=’3’2=’3’2=’2=’§=§=§=§=§=§=§=%§=§=§=§=§ l
LEFT TRIM\ 85.0
[26.89] _ [ [lﬁ]
683.0 :
&\ ~ > ~
o
BOTTOM TRIM
o
o ﬂ
. 2X KNOCKOUTS FOR USE
L S IGHT TRIM WITH COLUMN STAND\
3.35] R e i
85.0
[26.89] _ [ [11']6]2]
683.0 :
BOTTOM TRIM
LEFT TRIM RIGHT TRIM
[lﬁ] [1.62] A‘ ’7
. 411
[3.35] - [3.35]
85.0 SN 85.0
\ ] I
[47.72] . 47.72]
1212.2 1212.2
\
2. TOP, BOTTOM, LEFT, AND RIGHT TRIM ADD APPROXIMATELY 1.6mm TO
DISPLAY DIMENSION.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.
/ ° Y SIZE PART NO. DRAWING NO. REV
D - 01
e e DONOTSCALE |7 60F7
8 7 6 4 3 1 2 | 1




050-0218-02 REV B
g

( [68.67]

17443

I

o r
4X LEVELING FEET//g
[25.84] _
656.4

+1.00
1617500

+25.4
41.0 00

[3.61] _

?21.8

T

°* nZ
—

T

|

[16.99]
4315

)

|

[17.33]
440.3
CUSTOM HEIGHTS
AVAILABLE

[112.82] )

2865.7

|

]

—

[ONO)

e
e —
— @eee

[27.25]
692.2

WITHOUT FLOOR
ANCHORS

[30.00]
762.0

WITH FLOOR
ANCHORS

Ig\
4X FLOOR ANCHORS

[0.38]

® 9.5 HOLE PROVIDED

/

LI ]
C_&\s\ \—g

v
Sy Ty =
)0 N —

QOO

4. TIE BACKS REQUIRED FOR WALLS EXCEEDING 7 FEET TALL AT THE TOP AND

MINIMUM EVERY 7 FEET BEYOND.

3. STANDARD MAXIMUM THREE HEIGHT STACK. CONTACT PLANAR SYSTEMS

FOR CUSTOM OPTIONS FOR ADDITIONAL ROWS.

2. ADDITIONAL CUSTOM ACCESSORIES. CONTACT PLANAR SYSTEMS

» CASTERS
* FLOOR ANCHORING WITHOUT FEET
* CUSTOM LENGTHS

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.

SIZE PART NO. DRAWING NO. REV
THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS SCALE SHEET
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS. 1 :8 Do NOT SCALE 7 OF 7

—B

2 |




